normalized X?

[ normalized x? probability |

0.05k
0.04f--i-

0.03f--:-

0.02

& s
S1E ] T
S ] ‘
x 14 ’ H \'v
08 }: i
0.6 - i I
0 2 4 6 8 10 12 14 16 18 20 0.3 0.
X2
m——— DQMstep3_SMS_CKF
e DQMstep3_SMS_default
= DQMstep3_SMS_defaultNEWT
5 — 5
& R S '
2 ¢ A AE i
:;(2.5_— """"""""""""""""" = Ef 35_
v o UF :
- © 25_ ¥
E Voo '
15[ oF £
o -1 : il
E -2F : :
0.5F 3 I :
L =3 i
o o 2 S ! [ : P
3 3 41 0B |
x ox ] ] L i
i |
£ L sl
=3 -2 -1 0 1 2 3
TP n (PCA to beamline)
A A
2 45 2
< <
\" \"
3.5
2.5
1.5
0.5]
he] Re]
© T
04 14
g
A
-
2
-
o
el
\"
4
8
©
04
4




	Contents
	Page 1


